AR AR /RE 7R 2

A| B |EB| X% 3= =IE HEBE BEEE SEESEE
KRC | |B° (o) ) ) - @ (z) x48
41 1 & | -« 4.7 3.1 30.4 24.7 4.9 950
2 | £ | 1.2 | 6.5 32.7 27.1 -19.8 350
3 | B |<sy| 20| 83 23.8 17.7 0.6 902
4 R ] 13.0 | 13.1 20.8 18. 2 -17.5 34
5 | & | <ty | 186 54 26. 1 21.5 1.0 1,080
6 | K| - 19.3 | 5.7 28.3 19.7 2.4 1,061
7 | K| ™ 10.9 7.8 30.2 28.9 -28.9 0
8 | £ | <ty | 180 10.6 20.6 16. 1 1.3 835
9 | x| - 23.6 | 6.3 28.0 19.3 1.2 984
10| B [<3y| 19.2 | 8.8 23.3 18.8 0.9 859
1| A M 9.7 | 4.7 27.7 23.0 6.5 792
12 | x| -e 17.0 | 0.8 32.8 25.4 0.5 1,195
13 | Kk [ <dvy | 16.7| 5.6 23.3 18.7 5.4 1,157
14 | K[ <3y | 19.8 ] 12.2 17.0 13.8 5.2 413
15 & | ™ 13.2 | 8.9 24.5 20. 1 6.0 1,253
16 | £ [ <3y | 209 3.9 24.6 15.3 5.7 1,008
17 | B ] 20.7 | 14.1 18.0 15.7 -12.1 173
18 | A | o | 21.4| 146 16.5 12.8 -3.6 442
19 | k| e 19.9 87 23.9 18. 1 6.9 1,200
20 k| e | 21.3] 5.9 24.5 16. 6 6.8 1,123
21 | K | <ty | 200| 8.2 22.7 16.9 1.7 442
2 | & | <HY | 20.2| 12.5 22.3 18. 1 -8.5 461
22 | £ | <sy | 26.1] 11.3 18.3 14.6 2.3 811
24 | B | e | 22.4| 143 20.8 16. 1 6.5 1,085
25 | B | <ty | 25.4| 1.5 23.4 17.0 6.2 1,114
26 | X o 26.8 | 9.8 21.8 15.0 8.6 1,133
27 | K | <ty | 205 9.4 23.5 17.3 5.8 1,109
28 | K| M 2.0 8.8 24.0 22.6 -22.6 0
29 | & | <sy | 151 ] 12.0 24.3 18.3 1.1 931
30 | o 18.3 | 1.2 19.7 14.4 8.9 1,118
ﬁA‘ 717.8 | 561.8 HRERI7E | 22,896

: 12,396 (3A15A~4A138%)
Fﬁ : 24,912 (3A15B~4RA138%)



